AT OvY

LEER EHER HER RRAEBH B | A | 7 |BR|B8R| &R |8KR| B
LEER 2 O 0 1 [ ] 2 0 () 1 1 2 3 3 3 0 2
FHEKR 0 o 2 3 @) 0 0 o 3 1 2 3 3 5 -2 3
FHER @) 1 0 () 3 0 o 4 1 2 3 2 8 -6 4
FEBR 1 @) 0 3 O 0 4 @) 0 3 9 8 0 8 1
eBJOvYy
BEER MREREEK KEFEHR EHEER B | 8| 2 |BR|BR| KR |BEA| B
BEEK 3 @) 1 1 A 1 1 1 4 4 2 2
FERERRK 1 o 3 0 ® 8 2 0 1 11 | -10
KEME R 1 A 1 0 A 0 2 2 1 1 0
AHESK 8 O 0 0 A 0 1 1 4 8 0 8
ecooyy
BREER CRvA NI =EER FMOBIESR | B | & | 9 |BR| 88| k8 |BKA| B
BEEER 7 O 0 1 3 7 0 7
CSvAlIlT Py 0 o 7 0 o 6 2 0 0 13 | -13
=EER 6 O 0 4 @) 0 2 6 10 0 10
mOETESK 0 o 4 1 0 0 4 | -4
eDJovy
ML IEE R gL &R FEK B TREHR B | & | 9 |BR| &R | &R |8ER| B
LIS 3 O 0 11 @) 1 11 @) 0 3 9 25 1 24 1
NP A=Y R 0 o 3 5 @) 0 7 @) 0 2 1 6 12 3 9 2
EFEK 1 ® 11 0 o 5 2 0 1 16 | -15
N TESH 0 ® 11 0 o 7 2 0 0 18 | -18




